1.

o]

52 U

A=
E]Ej_'__é_

D1

6 02 ey ol

LS 19 £ q, Lol

@ 2 ® 3

3 ola Y27} 3 o] St} o] &
Ebr T, a-b 9 727

@ 4 ® 5



2. 109014 200 7HA] A FolA 14 o A2AQ AAo] S 5t
ofzt.

B e 7



<y

O 18 @ 36

4 A 9B 9 HAFuPE 1801, F 4 C & D 9 Hayw

=
-
=2

S
4otk ¥l & A,B,C,D 9 Fuj5a gur2 A

2
H(AE 270)

® 72 @ 90 ® 144

==}



ol" Holl= 247} 30+, 18+, 45+ HA o=

A7 Ak, 2 TA o Al EA7E F ALl
A7AA] D R H S Aof| S st=A] F-eheiEt.

YEE Ll



2, 3, 4% ol AR Wprol= X7k 1 91 A Ael
oA 7P 2 50t A 2 S0 242 Fatolet



@ 2 @ 3 @ 4 ® 5

1



a, bARIY A7t 16 ol a>b A W, a, b

@ +8, -8 ® 49, -9



ol

op

@ Aigto] 4]



® o] ztE] o] 247t a, A9 A2l 9] =247t b, Do A<
ZA7F ¢ VAl A 9] A axbxe

@ 7 el a Yot TS 382 AHLL, 200092 WS w9
AXEE : 2000- (ax3) Y

® BE7ta% A 2FE 500g ol 50 A= A9 @

(1"% x 500) ¢

o



10. = <B7]> F y 7t x of Auleste A2 25 2 A7

el
F ¥ o] Zol7F xem ¢ AAFFE 2] Yol yem?
1 7iefl 500 Q<1 ofol A= E x 7He] 3ty &
7t2 o] ZAol7t xem, MZ22] Zo|7t yem 9 HAFZFE 2]
Y o]= 20 cm? o]t
o7} 25cm Q1 Fxo) &
A gobd off, Eo] £91 x

[e]
@ A& xem 2 5 AI7FFF Aol Al ykm

® ©® © O

® 174 @ 274 @ 374 @ 47 ® 571




11.

y 7F x ol AElEskal x

afolat,

D L
=%



12, o3 2983 22 A4 ABCDolA & P7F W AD 91& &3]0t
AR AP 9 ZolE xem, AA4F o YolE yem? & T o, x2}y 9]

A A-29
A zcm.P D
SCr:n
B >~ 5em---""C
(T, 0<x<5)
1
DO y==x @ y=3x @y:gx



13. Aule g4 y = é o] Zefmol thgt ok Y Z 2

Mo

el

o
5

A

1= AL?
@ Y-S Ay FAo|th
© A @1, 3) At
© Al 2, 4 AHEHS At
® x gtol AAH y 9] Fh= A
® Q,0 ONQNE) ® ©,0

ORUNGNC)

® 0,6,6,e



14. 138 100714 4% A 2, 3, 4 2 Y o] 1 ge=7}
74741, 2, 3 0] Bl S BE 9 7914 Fajolat,

YEE 7



2~
e

o

-6 3N AR o E F 55 Bol 7



16. 3{-x+2(x+1)-4} =18-5x Y7t x=a L ™, a-
Fpa?

O -2 @ -1 ® 0 @1 ® 2



17.

A9 B7E G Wte o, Bl toli A 9] ol o] 3uigict. A4 A
o tholi= = 1 wje] B o] tololtt. o 7, A 9] thol7} @] Lto]e]
3¥l7} 2 ), ASh B o] ol & et 100417 Brka gk, A A
o} BO] tolo] g FatAl L,

5 ER Al



o

o
o
A
R

i >
o 2T
ohu i



19.

(17]' (_1)100 + (_1)200 + (_1300) + (_1)400 o]_]—.l_’ b7]_ (_2)3 X

A0, a+ b e Fokofe,

(5 J=X
=%




20.

1 1 .
S =6y) +2(x=2) = 7y +4 ol wf, 20x — 26y ] & oozt

> S
=%



